REVIEW TEST
PJI3A
Market Leader: Unit 1 — Being International

Name:

Teacher: TOTAL

MARK

Number of points (max. 100 points) (60 points to pass)

1. Listening: III. Grammar:

IV. Translation:

11. Vocabulary:

I. Listening: (max. 20 points) points

I1. Vocabulary: (max. 34 points) points

A. Translate the following expressions into English: (2 points each)

uskali svobodnych pieshrani¢nich kapitdlovych tokt —

stahnout volné sménitelnou ménu (naps: z obéhu) —

mefit ekonomicky vykon hodnotou HDP —

rozdéleni pifjmb zavisejici na ptepravnich nakladech —

zachazet s konkurentem jako rovnocennym partnerem —

Micek je nyni na vasi strané hfiste. —

vyhnout se nevhodnym a necitlivim spletitym frdzim —

pozdravit obecenstvo rozptylujicim gestem —

B. Write expressions the following definitions refer to: (2 points each)

1. stress induced by reception of more information than is necessary to make a decision (or

that can be understood and digested in the time available):

2. astrategy where a company is operating all around the world but adapts its products or
services and its manufacturing methods to make them suitable for local conditions:

C. Complete the sentence with one of the following phrases; translate the selected phrase into Czech. (2 points each)

ADVANCED ECONOMIES, CAPITAL OUTFLOWS, DEBT BURDEN,
LICENSING AGREEMENTS, BALL-PARK FIGURE, FAMILY COMMITMENTS

1. Before leaving abroad, you have to fulfill all your

In Czech or Slovak:

2. If you want to sell our products, you need from us.

In Czech or Slovak:

3. Many companies have a big , which can even ruin

them.

In Czech or Slovak:

D. Complete the sentences with correct forms of the following verbs; some verbs are not nsed: (1 point each)

STUMBLE OVER — PROVE — MARKET - ENGAGE
REPATRIATE — GET OFF TRACK — HESITATE — INTEND

7. Could you give me some tips how the audience during my

presentation?

2. We will cut costs by our products ourselves.

3. Be careful about the used language as it must convey the
meaning.

4. In her last speech she
know.

words and phrases she didn’t really

(1 point each)

E. Complete each sentence with a word made from the word given in brackets.

1. Don’t forget to make for the Tuesday meeting.

(ARRANGE)

2. Ttis to exchange business cards at lunch in this country.

(CUSTOM)

3. Students made on the basis of the teachet’s non-verbal

messages. (ASSUME)

4. means losing a currency’s purchasing power. (VALUE)




ITII. Grammar: (max. 30 points) points

A. Fill in the gaps with a suitable preposition or adverbial, if necessary: (1 point each)

7. Our products are manufactured licence held by a different company.

2. A country’s outcome is usually measured ____ terms gross domestic product.
3. IMF develops projects relating the reduction of poverty.
4. His style surely didn’t appeal international audiences.
5. Why don’t you tap the advice offered by your older colleagues?
6. 1arranged the VIPs to sit in the front row.
B. Rewrite the sentences so that they mean the same as the sentence above. (3 points each)
7. Thoped to leave before 9.00. But I overslept and missed my train.
1 by 9.00 but I the train.

2. Human activities will almost destroy the world. It will happen before 2020.

By 2020 the world by human activities.

3. 'The finance director plans to go for a business trip. His schedule says that he is supposed
to meet his business partner on Monday afternoon.

The finance director, who is going for a business trip,

on Monday afternoon.

C. Put the VERBS and other words in brackets into their correct forms, add prepositions, particles or
anxciliary verbs if necessary. Y ou may need to use the passive forms of the verbs: (1 point each)

The world is getting warmer and the oceans are rising. Why

(this, HAPPEN)? One answer is that it could simply be part of a natural process. After all,
there (BE) ice ages and long periods of warmth in the past, so
(EXPERIENCE) another warming
(SUPPORT) many people

we could just

trend. This kind of answer

a few years ago. What scientists now believe is that human activity is the cause. For more

than two hundred years, humans (gradual,

CHANGE) the atmosphere, mainly as a result of industrial pollution. We
(CREATE) an atmosphere around the earth that, like a giant glass
(LET) heat from the sun through and then

container,

(HOLD) it in.

(temperatures, KEEP,

RISE)? The general answer is unfortunately yes.

D. Choose suitable words or phrases that can complete each sentence. The number of correct answers is 0 — 4.
(2 points each)
earlier this month because she a secret report.
B: has been dismissed ... lost
D: had been fired ... has given out

7. The financial director
A:was fired ... has published
C:lost her job ... had released

2. 'The alliance between IBM and Dell for at least three years.
A:is in existence B: have been in existence
C: will exist D: exists

fifteen new cars.
B: will have bought
D: had bought

3. By the last summer we
A: bought
C: have bought

IV. Translation: (max. 16 points) points

Translate the following sentences into English: (8 points each)

Ekonomiky rozvojovych zem{ trpi malymi a nestabilnimi financnimi trhy, a proto je pro né
jakykoliv zasadni odliv investic problematicky, protoze vede ke ztrat¢ davery véfiteld a k
celkové financni krizi.

Jestlize si pfipravujes padu pro svou prezentaci, nechej si svij text zrevidovat zkusenéjsim
kolegou, nepouzivej slangové vyrazy a hantyrku, nebot’ jinak tva prezentace nebude
obecenstvem kladné pfijata.




REVIEW TEST
PJI3A
Market Leader: Unit 2 — Training

Name:

Teacher: TOTAL

MARK

Number of points (max, 100 points) (60 points to pass)

1. Listening: I11. Grammar:

IV. Translation:

II. Vocabulary:

I. Listening: (max. 20 points) points

II. Vocabulary: (max. 34 points) points

A. Translate the following expressions into English: (2 points each)

prilakani a udrzeni schopnych lidf jako faktor uspechu —

zaviset na tvaréich lidech (7 word) na volné noze —

rozpustit virtudln{ skupinu strategické dalezitosti —

ohleduplny a nediktatorsky zptsob vedeni zaméstnanci —

krachujici malé a stfedni podniky —

zaostavat s ucast{ v mentorskych programech —

podezielé hodnoceni moznych vidcovskych dovednost! —

rezervace konferenéni mistnosti pro strategické skoleni —

B. Write expressions the following definitions refer to: (2 points each)

3. the process of introducing new employees to a new job, skill, organization, etc.:

4. anidea, a design, a piece of writing, etc. that belongs to a person or an organization and
cannot be sold or copied without the ownet’s permission:

C. Complete the sentence with one of the following phrases; translate the selected phrase. (2 points each)

HARD SKILL, CROSSOVER, WHEREWITHAL, CARDBOARD TOWER,
CORE COMPETENT, BENCHMARK, EXPERTISE, SOFT SKILL

4. Some people possess particular in dealing with critical situations.

In Czech or Slovak:

5. The course provided me with the
with suppliers.

to manage negotiations

In Czech or Slovak:

6.  We use this value as a
directors here.

for appraising managers and

In Czech or Slovak:

D. Complete the sentences with correct forms of the following verbs; some verbs are not used: (1 point each)

TACTLESS REMARK, CROSSOVER, WHEREWITHAL, CARDBOARD TOWER,
CORE COMPETENT, BENCHMARK, EXPERTISE, PHENOMENON

5. I’m afraid I'm going to miss my train if the meeting

6. All he was doing was just
at university.

on how good he was

7. The research has brought nothing new since it was done
before.

8. In the last lecture, the professor
to knowing yourself.

intrapersonal skills

E. Complete each sentence with a word made from the word given in brackets. (1 point each)

5. Universities and colleges are considered as so-called
institutes. (THREE)

6. Education diminishes social divisions so it acts as an

(EQUAL)

7. Her way of managing staff is friendly, pleasant and
(AUTHORITY)




8. Many students can’t afford to study because of higher
education costs. (INCREASE)

ITI. Grammar: (max. 30 points) points

A. Fill in the gaps with a suitable preposition or adverbial, if necessary: (1 point each)

7. The study department has to look students’ cheating at exams.
8. I’'m glad the foundation helped to put me so that I can study now.
9. Social skills are critical
70. Reliability, coupled

71. If you want to make something popular, try to hype it

12. Mindy lacks the ability to get

future managers.

responsibility, is the key characteristics of a good employee.

with other people so she works alone.

B. Rewrite the sentences with the given words so that they mean the same as the original sentences; mafke
Sentences with infinitives or gerunds from the underlined words. (3 points each)

4. 1 want to suggest that we should consider that we would not buy a new company car.

I want to suggest a new company car.

5. 'There is no point why we should deny the fact that we will postpone the act of setting up

a new training course.

There is no point a new training course.

6. Try it and persuade us if you want us to risk the danger of warning the competitors that
they should not pay late.

Try late.

C. Put the VERBS and other words in brackets into their correct forms, add prepositions, particles or
anxiliary verbs if necessary. Y ou may need to use the passive forms of the verbs: (1 point each)

Training courses (DESIGN, usually, PRESENT)

new information to participants in an effective and attractive way. Nowadays training courses

(not RELY, EXPECT,

the students, TAKE) notes in class but they are more interactive. Students
(SHOULD, PREPARE, PARTICIPATE,

active) in classes. Trainers
(MAKE, they, ASK questions, CONCERN) the discussed topic because they
(WANT, MAKE

SURE, students, not LOSE). Every attempt
(PRACTICE, USE) new skills is generally appreciated by them. Students
(also, ENCOURAGE, DISCUSS, FIND)

new and non-traditional ways of solving problems. After (PASS)

such a course, the participants are usually better prepared and they
(SEEM, LOOK FORWARD, USE) the acquired knowledge in practice.

D. Choose suitable words or phrases that can complete each sentence. The number of correct answers is 0 — 4.
(2 points each)
4. 'The mentor
A: objects to avoid using
C: objects avoiding in using

IT technologies in teaching.
B: objects in avoiding to use
D: objects to avoiding using

5. Our company
A:intends starting outsourcing
C: intends starting to outsource

some of its key activities.
B: intends to start outsourcing
D: intends to start to outsource

6. It’s no good
A: recommending to manufacture
C: to plan to manufacture

computers in China.
B: to recommend to manufacture
D: planning manufacturing

IV. Translation: (max. 16 points) points

Translate the following sentences into English: (8 points each)

Metody e-learningu umoznujf uciteldm vymanit se z tradicntho modelu vyucovani a pfispivaji k
samostatné aktivit¢ studentd ve virtudlni t¥de, coz je ¢inf skute¢nou konkurenci ke “kamennym”
univerzitam, a udéleny titul (@kademicky) je tak pro studenty cennéjsi.

Predstava emociondlni inteligence, poprvé popularizovand v poloviné 90. let, definuje prvky
jako védom{ o sob¢ samém, seberegulace ¢i empatie a vycvikové kurzy zaméfené na tuto
dovednost pomahji lidem piekonavat razné piekazky v meziosobni sféfe.




REVIEW TEST
PJI3A
Market Leader: Unit 3 — Partnerships

Name:

Teacher: TOTAL

MARK

Number of points (max. 100 points) (60 points to pass)

I. Listening: III. Grammar:

II. Vocabulary: IV. Translation:

I. Listening: (max. 20 points) points

I1. Vocabulary: (max. 34 points) points

A. Translate the following expressions into English: (2 points each)

vydaje na kapitalove naro¢né projekty —

shromazdit penize na stavbu komunitnich zaffzen{ —

podrzet si vlastnictvi aktiv —

systém navrzeny na generovani zisku a malych nakladd na adrzbu —

mnohostranné a podfinancované vladni investice —

vseobecné poskytovani vefejnych statka —

zneuzitl moci pfirozeného monopolu —

poptavka po dotovanych regulovanych vetejnych sluzbach —

B. Write expressions the following definitions refer to: (2 points each)

5. aset of services provided by private or public organizations consumed by the public,

including: electricity, natural gas, water and sewage; telephone services may also be included:

6.  the part of the economy of a country that is owned or controlled by the government:

C. Complete the sentence with one of the following phrases; translate the selected phrase. (2 points each)

CENTRAL PLANNING, PUBLIC SERVICE ETHOS, SHIFTING SAND,
VENDOR, GOVERNMENT ENTERPRISES, CONCESSIONS, BORE HOLES

7. Not every can sell products to you at a discounted rate.

In Czech or Slovak:

8. This service is not provided by private companies but by

In Czech or Slovak:

9. If you want to negotiate better conditions, you’ll have to make some

In Czech or Slovak:

D. Complete the sentences with correct forms of the following verbs; some verbs are not nsed: (1 point each)

STEP BACK IN — FOSTER — PUT OFF — SERVICE - FLOOD INTO
NATIONALIZE — TEMPT — REIMBURSE — RELINQUISH

9. The badly managed reforms
so they are dissatisfied now.

many people,

70. Your employer has the possibility
medication bill.

part of your

71. The EU
a few years ago.

border controls between member states

72. You’ll have to earn more money if you want your
debts fully.

E. Complete each sentence with a word made from the word given in brackets. (1 point each)

9. Local governments usually don’t support in

developing countries because they are afraid of their country’s property. (PRIVATE)

70. As the strategic partner holds a 51% share in the company, it can
the decisions of the minority shareholders. (TURN)

71. If some services are people aren’t getting




enough of them or the quality is poor. (PROVIDE)

72, Our inability to estimate the risk factor realistically made us risk
(AVERSION)

ITI. Grammar: (max. 30 points) points

A. Fill in the gaps with a suitable preposition or adverbial, if necessary: (1 point each)

713. Many of our employees would opt
74. Allow
75. Could you give us advice

a shorter working week.
the decline in GDP in your study on the crisis.
dealing with competitors?

76. All employees have to pay their medical insurance, regardless their income.
77. 1 recommend that you don’t experiment outsourcing all our services.

18. It can be a problem to recoup investments in unstable developing countties.

B. Rewrite the sentences with the given words and use passive voice. (3 points each)
7. I’'m going to permit them to participate at the conference.
They at the conference.

8. We had punished the staff for their bad deeds and they decided not to do it again.

Because the staff for their bad
deeds, they decided not to do it again.

9. We / accustom / be given / the wotst wotk.
We the worst work.

C. Put the VERBS and other wotds in brackets into their correct forms, add prepositions, particles or
aunxiliary verbs if necessary. You may need to use the passive forms of the verbs: (1 point each)

(COMPEL, people,
PAY) public services when they know it isn’t necessary. Therefore, the state

(CAN, DECIDE, GUARANTEE,
PROVIDE) them free of charge or at low price. Some private companies

(MAY, ANNOY, LEAVE) outside this business but people
(ENQUIRE,

It is always difficult

usually appreciate it. Economists usually

USE) the resources efficiently and they

(BLAME, the government, WASTE) taxpayers’ money. Private companies

(CAN, RELY, SUCCEED, FIGHT) their
(RESULT,
ATTEMPT, LOWER,) their costs as much as possible, but for the state this is not a

competition, which

concern. Some counttries

(PREFER,
DISTRIBUTE) these services in both ways, i.e. in private and public ways. However, the

main issue is if people have a reason

(OBJECT, PROVIDE) public setvices on given conditions.

D. Choose suitable words or phrases that can complete each sentence. The number of correct answers is 0 — 4.
(2 points each)

7. 'The university its budget

A: refuses to get ... lowered
C: insists to have ... boosted

B: will have to getting ... cut
D: expects to have ... boosted

8. The teacher

A:was discouraging from starting
C: was aware of being known to begin

every lecture with checking attendance.

B: detests being expected to start
D: might has been told to begin
9. 'The government

the private sector their prices.

B: is relied on ... to cut
D: wants to let ... cut

A:is trying to make ... to reduce
C: has attempted to make ... decreasing

IV. Translation: (max. 16 points) points

Translate the following sentences into English:

V zemich, kde vefejné sluzby nejsou ani vefejné poskytované, ani vefejné financované, obvykle
nepodléhaji vladni regulaci, protoze soukromy sektor zajist{ dostatecné mnozstvi téchto statku.
Nicméne statky, jejichz spotieba je nerivalitni a nevyloucitelnd, jsou zaruceny stitem. Jednd se
napfiklad o armadu, vefejné zdravotnictvi nebo policii. I v téchto pifpadech vSak mize vefejny
sektor spolupracovat se soukromym, zejména pfi nakupu materialu, stavbé nové infrastruktury
¢i poskytovani dodatecnych sluzeb.




REVIEW TEST
PJI3A
Market Leader: Unit 4 — Energy

Name:
Teacher: 0 TQTAL MARK
Number of points (max. 100 points) (60 points to pass)

I. Listening: I11. Grammar:

II. Vocabulary: IV. Translation:
I. Listening: (max. 20 points) points
I1. Vocabulary: (max. 34 points) points
A. Translate the following expressions into English: (2 points each)

emise a hromadéni sklenikovych plynu z fosilnich paliv —

bezpecnost dodavek a diverzifikace energetickych zdroji —

bfemeno globdlniho oteplovani ovlivijici danové poplatniky —

odolat vysoké hustot¢ hotlavych latek —

zpochybnovat pralom nevyhnutelnych technologii —

vypoustet odpadni vodu (7 word) a ukladat odpad —

nevratné zmény a udrZitelny rozvoj —

objemny a natlakovany zasobnik se zkapalnénym plynem —

B. Whrite expressions the following definitions refer to: (2 points each)

7. areport produced by a company on environmental or green issues that give a more favorable
impression on this company than justified by the real facts:

8. the removal or destruction of significant areas of forest cover and their conversion to non-
forested land:

C. Complete the sentence with one of the following phrases; translate the selected phrase. (2 points each)

LITANY, WATCHDOG, IGNOMINY, OVERFISHING, UPSHOT,
STAFF TURNOVER, DEPLETION, ENVIRONMENTAL LOBBY

70. Being marked as not environmentally friendly was the worst
for us.

In Czech or Slovak:

71. The conference on green policy had no real SO it was
a waste of time.

In Czech or Slovak:

72. The of oil reserves represents the biggest threat for the
215t century.

In Czech or Slovak:

D. Complete the sentences with correct forms of the following verbs; some verbs are not used:

PROPEL - RECYCLE - GUZZLE - COUNTERBALANCE
UNBUNDLE — BRAINSTORM — SPORT — POLLUTE - REV UP

(1 point each)

73. Major electricity producers their activities recently.

74. Volkswagen’s cars can
environmentally friendly.

the certification that they are

15, Greenpeace
storage last month.

a new initiative against carbon dioxide

76. The technology of producing hydrogen will not to
market soon because it is still very costly.

E. Complete each sentence with a word made from the word given in brackets. (1 point each)

73. Some governments of developing countries refuse to ban
of rain forests because it is a source of income for them. (LOG)

74. All damage the environment and some of them are even




toxic for the people. (POLLUTE)

75. Installation of new sources of energy is considered a sector
of the economy. (PROSPER)

76. 1f we don’t build any further
into problems with the supply of oil. (STORE)

facilities for oil, we could run

ITI. Grammar: (max. 30 points) points

A. Fill in the gaps with a suitable preposition or adverbial, if necessary: (1 point each)

79. The financial crisis has brought a fall in consumers” demand.
20. a large extent, this situation was caused by the new ecological tax.
21. Countries should dispose their nuclear waste in an ecological way.

22. Do you consider the current situation stable?

23. despite higher ecological awareness, people are still quite irresponsible.

24. When transporting oil, it is stored board a ship or a tanker.
B. Rewrite the sentences with the given words and use conditional clanses. (3 points each)

70. In a situation when manufacturers will not start behaving in a more responsible way, taxes
on coal and gas will be introduced by the government.

The government unless

71. The air is so much polluted now because oil was discovered.

If the air

72. 1 can’t forgive her for breaking into the house but I am not you.

If I 1

C. Put the VERBS and other words in brackets into their correct forms, add prepositions, particles or
anxiliary verbs if necessary. Y ou may need to use the passive forms of the verbs: (1 point each)

The environment (SUFFER, POSTPONE) the

basic measures that should

(HELP, PREVENT, industrial firms, POLLUTE) the air and water. The EU

(URGE, the member states, AVOID,
IMPLEMENT] technologies harmful for the environment. Some countries still

(DENY, BE RESPONSIBLE) this situation but most

of them now know that something must

(MAKE, CONVINCE, pcople, SAVE) energy. Several companies

(alteady, PROMISE, not, KEEP ON, USE) harmful
technologies. The EU (TRY,
MAKE, they, INVOLVE) environmental programs but others
(HAVE TO, MAKE, ACCEPT} an environmentally
friendly policy. Some of them (MAY,

doubtful) the result but they are willing to do it.

D. Choose suitable words or phrases that can complete each sentence. The number of correct answers is 0 — 4.
(2 points each)

10. university a year earlier.

A:1f T had started B: 1 wish I started
C: 1 wish I had started D: If only I had started

71. The economic situation if we

A: could have been worse ... hadn’t limited
C: might improve ... start checking

our expenses.

B:would have been good ... had cut
D:would be fine ... had been reducing

72. The Prime Minister if he

A: couldn’t succeed ... weren’t
C: can’t overcome the crisis ... won’t be

an expert in economics.

B: should have hired him ... had wanted
D: wouldn’t be so successful ... wasn’t

IV. Translation: (max. 16 points) points

Translate the following sentences into English:

Pokud chce Evropska unie udrzet ekonomicky rist i v dlouhodobém obdobi, bude muset
zavést do praxe razna opatieni tykajici se ochrany zivotniho prostfedi. I pfes rostouci spotfebu
elektfiny musi vétdina zemi ve vétsi mife vyuzivat obnovitelné a neznecist'ujici zdroje energie.
Navic musi fesit problémy s uklddinim odpadd, protoze skladky jsou jiz téméf plné, a se
znedisténym ovzdusim, nebot’ néktefi pramyslovi vyrobci stile produkuji velké mnozstvi
rakovinotvornych znecist'ujicich latek, coz ma negativni vliv na zdravi obyvatel.







